EE 475 Fall 2011 Quiz #10
Name:





1. Use P, PD, lead, lag, PI, lead-lag, PID or a combination to answer the following.

· If a non-zero steady state tracking error must be eliminated (to 0), what type of controller must be used ________



· If a non-zero steady state tracking error must be reduced by a factor of 5, what type of controller should be used ____
_____

· If the desired region for the dominant poles is to the left of the branches of RL near the jw-axis, what type of controllers must be used ___
____

· If the RL does not pass through the desired region for the dominant poles and noise is a concern, what type of controller should be used ____
_____
2. The open loop TF of the RL equation has denominator degree n and numerator degree m. Answer the following question:

i. There are 

 branches of root locus.
ii. There are​

 asymptotes

iii. The angle of the asymptote are 



 if n=5, m=2.

iv. If n=5, m=2, the closed-loop system will be 

 when K is very large.

v. If n=5, m=2, the minimum number of jw-axis crossing points is 


vi. To find the jw-axis crossing points are at +-j6 when K=10, what can you say about the closed loop behavior when K=10






